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1. Consider following statements:
1) MGNREGA guarantees ‘right to work’ for adult members in the family willing to do unskilled
work
2) It provides for unemployment allowance if work is not provided within 15 days
Which of the above statements (s) is/are correct?
a) 1 only b) 2 only c) Both 1 and 2 d) None of the above

2. Which of the following pollutants are emitted by crop stubble burning ?
1) Methane
2) Sulphur Dioxide
3) Carbon Monoxide
4) Nitrous Oxide
5) Ozone
Select the correct answer using the code given below:
a) 2,3and4only
b) 3and 4 only
c) 1,2and5only
d) 1,2,3and4only

3. Increase in absolute and per capita real GNP do not connote a higher level of economic development,
if
a) Industrial output fails to keep pace with agricultural output.
b) Agricultural output fails to keep pace with industrial output.
c) Poverty and unemployment increase.

d) Imports grow faster than exports.

4. Disguised unemployment generally means
a) Large number of people remain unemployed
b) Marginal productivity of labour is zero
¢) Unemployment caused by structural changes in economy
d) Unemployment caused by seasonal nature of work

5. With reference to the AUKUS, consider the following statements:
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1) Itis atrilateral security pact between Australia, France and U.S.A to confront strategic tensions in
the Indo-Pacific region.
2) Under this pact, Australia will acquire nuclear-powered submarines from U.S.A
Which of the above statements (s) is/are correct?
a) lonly b) 2 only c) Both 1 and 2 d) None of the above

Consider the following statements with respect to office of Whip:
1) He is appointed by Presiding officer of the house.
2) Itis not mentioned in constitution but in Rules of House.
Which of the above statements (s) is/are correct?
a) lonly b2 only c) Both 1 and 2 d) None of the above

With reference to the United Nations Refugee Convention, 1951, consider the following statements:
1) India is not a party to the convention
2) This convention is legally binding but there is no body that monitors compliance.
Which of the above statements (s) is/are correct?
a) lonly b) 2 only c) Both 1 and 2 d) None of the above

Padya Natakam is a theatre form associated with the following state:
a) Tamil Nadu

b) Karnataka

c) Andhra Pradesh

d) Kerala

Consider the following statements:

1) Saffron cultivation is believed to have been introduced in Kashmir by Central Asian immigrants
around 1st Century BCE.

2) Saffron is used for medicinal purposes.

Which of the above statements (s) is/are correct?

a) 1lonly

b) 2only

c) Both1land2

d) None of the above

Consider the following statements about Pradhan Mantri Ujjwala Yojana:
1) Ministry of petroleum and Natural gas administers the scheme

2) A deposit-free LPG connection is given to eligible with financial assistance of Rs 1,600 per
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connection by the Centre.
Which of the above statements (s) is/are correct?
a) lonly b) 2 only c) Both 1 and 2 d) None of the above
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